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RAMANUJAN MATHEMATICS CLUB, SALUR

15" DISTRICT LEVEL MATHEMATICS TALENT TEST-2015 @
X CLASS (Upto November Syllabus)

NBITIE T «.erveevereeeesienesssrseserssnsssnerastessersssnassns Date : 29-11-2015

' Max. Marks : 50
2 elp o ls) | R Time : 11 am. - 12 noon
oD 1) 800D ITH DHEERaRR),Iwod 1,2,3 B 4 0w S8y HHREeD HEBVHOD &

BLDOMD HNDEDR &7, 2705,65 FRADIED. HB HOGHH DARTRBLRBED 1 Hretd,,
2) B &), SRRRBADDHE 1/4 BREFD Ao BRte oG EHSCDED.
3) DLH HEREIBEDO) BI0,LD RHRXSH).

1) (8od 708" oozl edsdmih Sarodo AB?

Which of the following is not a terminating decimal.

2 17 15 7
0 = 2} — . g i 4y -
) 2 : ) 15 ) 16 ) %
2) J2+\/2+\/2+.........ao =GR =
1) -2,1 2y 2,1 3) 2,-1 4) -2, -1

3) (8ob Szrodo G erdoEEo 7" @awd K’ Dend ...

Mode of the following data is 7’ then the value of ‘K’ is..........
6,3,5,6,7,5.8,7,6,2K+1,9,7,3

1) % 2) 3 3) 7 4)5

4) (Bod 2S8° wozsn (Bghas gheren PR H?
Which of the following are not the sides of right angled triangle.

1) 345 2) 957 3) 3,635 4) 12,159

5) If AAB=AUB ®ond (then), .cccccceevernniienennns

1) A=B 2) ANB=g 3) AAB=@ 4) AAB=A-B

6) V2+/B+/18+/32+....... [B&cHo ‘0’ Hore FwEo..........

1 n(n+1) 2) 2 n o3 n(n+1) 4) 1
)—4~2 ) 2n(n+1) ) 5 ) @




=N

\

7)

8)

9)

10)

11)

12)

Cos x+Sin x&mé& ﬁ@-g St

The maximum value of Cos X+Sin X iS..ccccvvvrnnenen.

T 2) 2 )3 4) 2

0088, ey TgbEnes 4 0.8, 8 20.80.1 SOAS Hgftdints 8A0D
8 0. 5. ghrargore e oD SoHERS T IR 20. 5.

A hollow sphere of internal and external diameters 4 cm and 8 cm.
respectively is melted into a cone of base diameter 8 cm.
Then the height of the cone is ............... cm.

1) 12 2) 10 3) 14 46
o8 (Behadm 28 Do.D., 21 0.8, HBkw 35 Do.fu. FUHeorriie

ghesmen ZOACHHDD. LanSS® Bghesns® ©8 g thessn 28 ﬁcfnaa&:s
SODEDEED <. avvsvusmnsins R30, 9D

A triangle has lengths of sides as 28 cm, 21 cm. and 35 cm. Then the
length of the altitude drawn to the largest side of triangle is ............ cm.

1), 7.2 2) 13.4 3) 16.8 4) 142

APS® t]=logma sy logmb S8 b= logmc eond ab,cen
RO B ses vesas s

Ifinan A.P, ;= log1oa il logmb and t,,,,= Iogmcthen a,b,c are in
1) AP 2) GP. 3) HP.  4)None ofthese; D8setH
A=X?-3x+K @0 2058 Srae 958 B=2x-5x+2 o adobh
S HB $B0 ANB={2} 0005 K DS ....cvvrrvne

If A=set of zeroes of polynomial x?-3x+K, B=set of zeroes of
polynomial 2x2—-5x+2 and ANB={2} then the value of K is...............

1) 2 2) 3 3) 4 4)5

aCos6 + bSin0
aCos0—bSind

If tan@ = E, (a#0) eomis (then)
; a

2 2

a+bh a-b
al—p?

2
a-b ) a+b

3)

1)

al+b?
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13)

14)

15) Botd OE Bolis Kz TxTen 5 0.5, B 3 Ro. .

16)

17)

18)

19)

A

ABCD oroaSé&®, AB=6 0.8, wond ACHBD? =............ 200.8%.
In a thombus ABCD, AB=6 cm. then AC*+BD? =.......ccooonn.. cm.
1) 36 2) 144 3) 72 4) 96

85 (Edos® (T30 Sgro¥o 15,16,17,2x+4, 3x-2,20,21,220
S0ggEsn 18.5 @000 X=..iienie

Ifthe median of the data 15,16,17,2x+4, 3x-2.20,21,22 written in
ascending order is 18.5 then x=................

1) 6 2) 5 3 8 aH7

DY EoD &8 DBore GoE D B0 Do) exvg 50l TS

Two concentric circles are of radii 5 cm. and 3 cm. Find the length of
the chord of the larger circle which touches the smaller circle.

1) 10cm. 2) 6cm. 3) 8cm. 4) 2 cm.

100 08 doogEes® 25 %08 IpSHsR SBHsR SHIB,
15 $hob Sr(go Bo&oﬁi) Stodied. B&® 52 Hod mﬂgpéoé)
BB HYS, PED SHBRYITE JosE?

Tt is found that out of 100 students, 25 can drive neither a scooter nor a
car. While 15 can drive both these and 52 of them can drive a scooter.
Howmany can drive a car?

1) 17 2) 38 3) 41 4) 25
If logmB:a, log102=b won:d (then) log106=..................

a+b ab a+b
2 2) atb 3) = 4) =

1)
(BobarRs® E6Dch Sogyg 287? Which of the following is an Irrational number.

1) (2+43)+(4-B) 2 (2+B)2-43) 3 [JE+:]5]Z 4) (2+45)"

ABC $0ers50 (8202:06° ADLBC 008 .oceeenen..
In an equilateral triangle ABC, if ADLBC then.................. @JJ

1) 4ABZ=3AD? 2) 3AB%=4AD? 3) 2AB%=3AD? 4) 3AB%=2AD?




@ B
20) 3x*+6x+K=0% 7755 DOJ) BareePe008 ovvvineinen,
If 3x*+6x+K=0 has two distinct real roots then.................. :
1) K<3 2) K>3 3) K=3 4) K>4
21) X1 Xgpeererennes X190 @OodSwe Bt 20 @ooa;ét’.g}c‘:‘.-o-'
X1+45 X2+8, X3+12, .......... X10+4O o s
If the mean of a set of observations Xy, Xg,.-cc.ec... X0 is 20, then the mean
of x;+4, X518, x3+12, .......... X10H40 iSeciinnns
1) 34 2) 42 3) 38 . 4) 40
22) If Sind.Cosf=K escn@ (then) Sin@+Cos0=......c..cccuennee.
1) +/2K+1 2) +V2K*-1  3) 2K 4) K?
23) 2520=23x32x5x7, 3960=23x32x5x11, 4725=33x5%x7,
28OS Sogge @) K057, a'.bY wod Xty Deod ..
2520=23x32x5x7, 3960=23x32x5x 11, 4725=3>x5*x7 ifa*.b¥ isthe HC.F.
of given numbers, then the value of x+y is......cocoo.c..
1) 3 2) 4 3) 2 4)5
24) log ‘8_‘? =P (log2-log3) wom (then) 2P+3=........ccorrrrrr.e
1) 4 2) 14 3) 11 4) 16
25) 212 33 48 Soess Homotio? The relation between 212 38 Al is e
1) 455212538 2) 43801 3) 3212548 g 218547530
26) 2443 SO 2 -3 EPTHEOE KO SEDZVBO ovvererririnnenes
The quadratic polynomial whose zeros are 2 + V3 and 2-43
1) x? -24Bx+1 2) x2-4x+1  3) x*-33x+1 4 x*-x+1
27) tan20°+ tan40® + tan60® +......... +anl80°= ..o
1) 0 29 3) 2 4)3
6




w

28)

29)

30)

31)

32) ¢

33)

34)

2.8 95)08% oo, Fow Twdo ‘Trrre (BRI S8

The set of all proper fractions each having 7’ as the sum of the
numerator and denominator is................

123 145 142 234
1){.617% 2){6,3,2} 3){6,3,5}, 4){5,4,3}
If log x=a®and (then) 10%* > =

x* X x?

1000 3 oo 4 100

1 To00 2)

14,,y,18,17 oF 05858 $es08:d SKen KN y8 $krss.
y=x+1 9008 S0GgISBD. e

Mean, Median of an ungrouped data 14,x,y,18,17 isy. If y=x+1 then
median IS ........eeeeenis

1) 14 2) 16 3) 17 4) 18

43x% +5x — 243 58 250H6 Too) EPTHL ovvverrrnenes
The zeros of the quadratic polynomial 4J§x2 +5x—23 are

1 2 3 1 -2 3
N 25T YT oy

n’ e B éé@vgéoa)?s ©OBN (n+1)3 -n (n2+2n+3)—2 Q R)égtdom PNOD Jogy.....

If ‘n’ is a positive odd integer then (n+1 Y-n (n*+20+3)-2 is
exactly divisible by .................

1) 2,

1) 8 2) 6 3) 9 47

42481 SOBEIOSPED veeerrrannenn . Factors of 4a*+81 are...................
1) (2a*+6a+9) (2a’-Ba+9) 2) (2a*-6a+1) (2a°+6a+81)
3) (4a+6a+0) (a°-6a+9) 4) (22°-6a+3) (2a%+6a+27)
BOG. D08 X teamey : : i
From the figure X=.....c..cccevuuees N

1) 10 2) 12 3) § 4) 8 X
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35)

36)

37)

38)

39)

40)

ﬁ
‘A’ 030 6 Gw¥) SBErose SWB. B’ 030 6 @) (Hed sedrose
B8, ‘C’ o3 6 Y [EIrDH sBeroe S8, ‘D’ o3 3 Bk
s8Erosee B8, [BobardS® $¥o 26?7

‘A’ is the sef of factors of 6. ‘B’ is the set of prime factors of 6.
‘C’ is the set of proper factors of 6. ‘D’ is the sét of factors of 3.
Which of the following is true?

1) A=B 2) A=C .3) B=C  4)C=D

ax?+bx+c=0 &8 Sreo, HE° Lorerdd Do wavd.............
If one root of ax*+bx+c=0 is twice the other then

1) 2b=9ac 2) 9b=2ac 3) 9b’=2ac 4) 2b*=9ac

If ACB £8d% (and) BcC ewowd (then) ANBUC)=................

1) A 2) B 3) C 4) @

a,b,c @39 wo¥BES® H80k HHEES P ud. wand BoBrast
& B&g0?

If a,b,c are in A.P. and G.P. both, then which if the following is correct?
1) a=b#c 2) azb=c 3) a=b=c  4) a#b#c

6 0. 2. agFgone e HESolio ok 8 Do.d. drdose

2.8 Hothood Keeds AchadH ﬁgtﬁgﬁaa oty NI 0.8,

The length of the tangent drawn from a point 8 cm away from the
centre of a circle of radius 6 cm is ............... cm.

N 27 2) 7 3) 10 4)5

3xty=1 0805 (2K-1)x+K-1)y=2K+1 & =38 3o $&8emnen
OHONSDHE K= v

The value of ‘K’ for which the system of equations 3x+y=1 and
(ZK-1)x+(K-1)y=2K+1 is inconsistent is.......cccc......

o

1y 1 2) 0 31 42 @
2,




@ )
41) -"X_2 +x+1=2 @ﬁ} &’Déﬁgbﬁémo Cﬁ])éa_ g)?ﬁé&% ....................
The discriminant of Vx? +X+1 =218 oecrvuvcrueen.
13 2) -3 : 3) 11 4)Noneofthese; E)ésﬂfﬁa_
42) 130.8, 6 0.8, 66k 8 D0.5. avééﬂcgenﬁen St oy FEgEne
EBACH a8 DY RS0 SSSrHBcHaBS, e 7Y THILED <. 0.5
Three solid spheres of gold whose radii are 1 cm, 6 cm and 8 cm respectively
are melted into a single sphere then the radius of the sphere is ................ cm.
1) 7 2) 8 3)9 4)10
43) ABC &8 oot (@bain [C=90°, CA, CB gy Horhiden S0
PQ wond 4AQ*BPY)=.....cooveernenne
In a right ang]ed triangle ABC. /C=90°. If P,Q are the midpdints of
CA, CB then 4(AQ*BP?)=.......coorvn.n.
1) AB? 2) 3AB? 3) 4AB? 4) 5AB?
44) o,B,Yen P(x)=ax’>+bx*+ex+d ©F @0h ) Eeargen ©ond
OB Y2 e, :
If &, B, are the zeros of the polynomial P(x)=ax*+bx*+cx-+d then
Vo s N
1) b +4ac 2) b’ f22ac 3) b? +22ac 4) b+ zac
2 a a a”
45) A={20 8z~ $Ep5tfe (s Soggen}, B={10 Eam) SEydie srrposent,
@od (A-B)N(B-A)=....ccvvirurne
If A={prime numbers lessthan 20}, B={whole numbers lessthan 10} ||
then (A-B)N(B-A)=.cceeeereeee
1) @ 2) W 3) A 4)B
46) 2.8 Sopgd 4By, © Soggs a’:ogﬁ}é 2B god 30 S8 WONE & Sdozg?
If 4 times of a number is 30 leesthan 2 times of its square of a
number then the number is ........c..... -
1) 58 (or)-3 2) 58 (o3 3) -58w° (o) -3 4) 58 (o) 3
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47)

48)

49)

50)

\

2 %08 100 Ssie B2 Fegtoages” 33 FrhoSed Sopge Fngsn

The sum of all odd integers between 2 and 100 those are divisible by 3

1) 767 2) 467 3) 567 4) 867
AABC o008 [8¢hzos® /B=90°, P 58c5» Q 95 $tsm
AB %805 BC ghazdno e 5)066325@3, BodaB8t HB ResEn?

In a right-angled triangle ABC right angled at B, if P and Q are points on
the sides AB and BC respectively, then which of the following is true?

1) AQ*+CP%:=2(AC*+PQY) 2) 2(AQ*+CPY)=AC%+PQ?
3) AQ*+CP2=AC%+PQ? 4) None of these; D&z
Q :
" A [$585¢208° PAQ G Szregi .......... S Tlovovll
= : P '
In the adjacent figure, Area of the segment PAQ
i8i vivisiiasivaicns sq.units
2 ' a2 22 a2
1) %(mz) 2) £ (m-2) 3 F(a-1) 4 = (n+)
A ob 3”;6:@5& Derazddn o ey S6KA........ e

The model class in the following frequently distributrionis ...................

Sors 0-10 | 10-20 | 20-30 | 3040 | 40-50 | 50-60
(Class)
PRI | g o | 15 | 30 | 18| s
(Frequency)

1) 30-40 2) 40-50 3) 50-60  4) None of these; Dbseth
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